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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Explain various degrees of price elasticity of demand. 

Discuss various elements influencing the elasticity of 

demand. Also distinguish between „Point elasticity‟ 

and „Arc elasticity‟. 5, 8, 6 

ek¡x dh dher yksp dh fofHkUu Jsf.k;ksa dks Li”V dhft,A 

ek¡x dh yksp dks izHkkfor djus okys fofHkUu rRoksa dh 

O;k[;k dhft,A ^fcUnq yksp* rFkk ^pki yksp* esa vUrj Li”V 

dhft,A 

2. “The law of increasing returns and the law of constant 

returns are the temporary phases of the law of 

diminishing returns.” Explain with suitable table and 

diagrams. Is the law of diminishing returns applicable 

only to agriculture ? Comment. 12, 7 

ßmRifŸk o`f) fu;e vFkok mRifŸk fLFkj fu;e dsoy mRifŸk 

kl fu;e ds vLFkkbZ :i gSaAÞ mfpr rkfydk o fp=ksa }kjk 

Li”V dhft,A D;k mRifŸk kl fu;e d`f”k esa gh ykxw gksrk 

gS \ fVIi.kh dhft,A 

3. What is the difference between perfect competition and 

pure competition ? Explain short run and long run 

equilibrium of firm and industry under perfect 

competition.  6, 13 

iw.kZ izfr;ksfxrk ,oa ‘kq) izfr;ksfxrk esa vUrj Li”V dhft,A 

iw.kZ izfr;ksfxrk esa vYidkyhu ,oa nh?kZdkyhu QeZ ,oa m|ksx 

lUrqyu dks Li”V dhft,A 

4. How has Welfare Economics been rehabilitated by 

Bergson, Samuelson, Tintner ? What is their main 

contribution in this respect ? Explain. 7, 12 
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fdl izdkj cxZlu] lSE;qvYlu] fV.Vuj }kjk dY;k.koknh 

vFkZ’kkL= dks iquLFkkZfir fd;k x;k gS \ bl fn’kk esa mudk 

egŸoiw.kZ ;ksxnku D;k gS \ le>kb;sA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

Briefly describe the following : 

fuEufyf[kr dh laf{kIr ppkZ dhft, % 

1. Static and dynamic equilibrium. 

LFkSfrd ,oa izkoSfxd lUrqyuA 

2. Consumer surplus. 

miHkksDrk dh cprA 

3. Consumer‟s equilibrium. 

miHkksDrk dk lUrqyuA 

4. Expansion Path. 

foLrkj iFkA 

5. Market price and Normal price. 

cktkj dher ,oa lkekU; dherA 
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6. Scarcity rent and Differential rent. 

lhferrk dk yxku ,oa HksnkRed yxkuA 

7. Liquidity trap. 

rjyrk tkyA 

8. Prof. Scitovosky‟s double criterion. 

izks- fLdVksoLdh dk nksgjk ekin.MA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct answer : 

lgh mŸkj dk p;u dhft, % 

1. Cobweb  theorem is an example of : 

(a) Partial equilibrium  

(b) General equilibrium 

(c) Static equilibrium 

(d) Dynamic equilibrium 

dkWcoSc izes; mnkgj.k gS % 

¼v½ vkaf’kd lkE; dk 
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¼c½ lkekU; lkE; dk 

¼l½ LFkSfrd lkE; dk 

¼n½ izkoSfxd lkE; dk 

2. Law of diminishing marginal utility is applicable to : 

(a) Drunkards  

(b) Misers 

(c) Stamp collectors 

(d) None of the above 

lhekar mi;ksfxrk kl fu;e ykxw gksrk gS % 

¼v½ ‘kjkch ij 

¼c½ datwl ij 

¼l½ LVkEi lap;h ij 

¼n½ mi;qZDr esa ls dksbZ ugha 

3. The basis of Revealed Preference theory is : 

(a) Weak ordering 

(b) Strong ordering 

(c) Both (a) and (b) 

(d) None of the above 

izdfVr vf/keku fl)kUr dk vk/kkj gS % 

¼v½ detksj ek¡x 

¼c½ tksjnkj ek¡x 

¼l½ ¼v½ rFkk ¼c½ nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 
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4. Under imperfect competition : 

(a) AR = MR 

(b) AR > MR 

(c) AR < MR 

(d) AR = MR = 0 

viw.kZ izfr;ksfxrk ds varxZRk % 

¼v½ AC = MR 

¼c½ AR > MR 

¼l½ AR < MR 

¼n½ AR = MR = 0 

5. Under monopoly, which curve is rectangular hyperbola ? 

(a) AR curve 

(b) MR curve 

(c) AC curve  

(d) MC curve 

,dkf/kdkj ds vUrxZr dkSu&lk oØ vk;rkdkj vfrijoy; 

gksrk gS \ 

¼v½ AR oØ 

¼c½ MR oØ 

¼l½ AC oØ 

¼n½ MC oØ 

6. The interest rate, according to modern theory is 

determined where : 

(a) I = S 
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(b) Demand for money = Supply of money 

(c) Both (a) and (b) 

(d) None of the above 

vk/kqfud fl)kUr ds vuqlkj] C;kt nj dk fu/kkZj.k gksrk gS] 

tgk¡ % 

¼v½ I = S 

¼c½ eqnzk dh ek¡x = eqnzk dh iwfrZ 

¼l½ ¼v½ rFkk ¼c½ nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 

7. The Risk theory of Profit was propounded by : 

(a) Schumpeter 

(b) Howley 

(c) Knight  

(d) Shaikel 

ykHk dk tksf[ke fl)kUr izLrqr fd;k % 

¼v½ ‘kqEihVj us 

¼c½ gkWys us 

¼l½ ukbV us 

¼n½ ‘kSfdy us 

8. The basis of Pigou‟s Welfare Economics : 

(a) Cardinal utility 

(b) Ordinal utility 

(c) Both (a) and (b) 

(d) None of the above 
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ihxw ds dY;k.kdkjh vFkZ’kkL= dk vk/kkj gS % 

¼v½ x.kukokpd mi;ksfxrk 

¼c½ Øeokpd mi;ksfxrk 

¼l½ ¼v½ ,oa ¼c½ nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 

9. The condition of equilibrium under price 

discrimination under monopoly is : 

(a) MC = MR 

(b) MR1 = MR2 

(c) MR1 = MR2 = MR = MC 

(d) AR = MR = MC 

,dkf/kdkjh dher foHksn dh fLFkfr esa lkE; dh ‘krZ gS % 

¼v½ MC = MR 

¼c½ MR1 = MR2 

¼l½ MR1 = MR2 = MR = MC 

¼n½ AR = MR = MC 

10. The market demand for a factor is : 

(a) Derivative demand 

(b) Depends on the price of the factor 

(c) General demand 

(d) None of the above 

,d lk/ku dh cktkj ek¡x % 

¼v½ O;qRiUu ek¡x gksrh gS 

¼c½ ml lk/ku dh dher ij fuHkZj djrh gS 

¼l½ lkekU; ek¡x gksrh gS 

¼n½ mi;qZDr esa ls dksbZ ugha 
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